

$$f(n) = \begin{cases} \cot \frac{\pi}{n} & n < 1 \\ \sqrt{n^2+1} & n > 1 \end{cases} \quad f \circ f\left(\frac{1}{\sqrt{r}}\right) \Rightarrow \cot \frac{\pi}{\sqrt{r}} \Rightarrow \cot \frac{\pi}{\sqrt{r}} \Rightarrow \sqrt{r}$$

$$f\left(\frac{1}{n}\right) = \sqrt{\frac{1}{n^2}-1} \quad g(n) = r \cos^n n \quad f \circ g\left(\frac{\pi}{r}\right) \Rightarrow r \cos^n \frac{\pi}{r} \Rightarrow \frac{1}{r} \Rightarrow \frac{1}{r}$$

$$\sqrt{\frac{1}{n^2}-1} \Rightarrow \frac{1}{n} \Rightarrow \frac{1}{n} \Rightarrow \frac{1}{n} \Rightarrow \frac{1}{n}$$

$$f(n) = [n] \quad g(n) = \frac{n}{1-n} \quad f \circ g(\sqrt{r}) \Rightarrow \frac{\sqrt{r}}{1-\sqrt{r}} \Rightarrow \frac{1+\sqrt{r}}{1-\sqrt{r}} \Rightarrow \frac{\sqrt{r}(1+\sqrt{r})}{1-\sqrt{r}} \Rightarrow \frac{1}{\sqrt{r}} \Rightarrow \frac{1}{\sqrt{r}}$$

$$f(n) = \sin n \quad g(n) = n \sqrt{1-n^2} \quad g \circ f\left(\frac{\pi}{2}\right) \Rightarrow \frac{\pi}{2} \Rightarrow 1 - \left(\frac{\pi}{2}\right)^2 \Rightarrow \sqrt{1 - \left(\frac{\pi}{2}\right)^2} \Rightarrow \frac{1}{\sqrt{2}} \Rightarrow \frac{1}{\sqrt{2}}$$

$$f(n) = \{(e, \omega), (e, \omega), (1, 12), (1, 12)\} \quad g(n) = \{(e, e), (e, e), (e, 1), (1, 1)\}$$

$$f \circ g(n) = e \rightarrow e \rightarrow \omega, e \rightarrow e \rightarrow \omega, e \rightarrow 1 \rightarrow 12, 1 \rightarrow 1 \rightarrow 12 \Rightarrow \{(e, \omega), (e, \omega), (e, 12), (1, 12)\}$$

$$g \circ f(n) = e \rightarrow \omega \rightarrow \omega, e \rightarrow \omega \rightarrow \omega, 1 \rightarrow 12 \rightarrow 12, 1 \rightarrow 12 \rightarrow 12 \Rightarrow \emptyset$$

$$f \circ f(n) = e \rightarrow \omega \rightarrow \omega, e \rightarrow \omega \rightarrow \omega, 1 \rightarrow 12 \rightarrow 12, 1 \rightarrow 12 \rightarrow 12 \Rightarrow \emptyset$$

$$g \circ g(n) = e \rightarrow e \rightarrow 1, e \rightarrow e \rightarrow 1, e \rightarrow 1 \rightarrow 1, 1 \rightarrow 1 \rightarrow 1 \Rightarrow \{(e, 1), (e, 1), (e, 1), (1, 1)\}$$

$$f = \{(1, 1), (1, 1), (e, \omega), (1, 1)\} \quad g = \{(1, 1), (1, 1), (a, r), (b, 1)\} \quad (e, r) \in f \circ g \quad (a, b) = ?$$

$$e \rightarrow \omega \Rightarrow 1 \Rightarrow b = \omega \quad e \rightarrow r \Rightarrow r \Rightarrow (e, r) \Rightarrow a = e$$

$$g, f \text{ is } \Rightarrow f(f(n)) \in n \cup r, \quad g(n \cup r) = r \cup n, \quad g \circ f(-1) = r \cup n$$

$$a(an+b)+b \Rightarrow \frac{a}{n} + \frac{ab}{n} + \frac{b}{n}$$

$$a = -1 \Rightarrow -ab + b = -b \Rightarrow -b = -b \Rightarrow -b = -b$$

$$a = r \Rightarrow rb = r \Rightarrow r(-1) = 1 \Rightarrow -1$$

$$r \cup n = -1 \quad r \cup n = -1 \Rightarrow r(-1) = -1 \Rightarrow -1$$

$$f(n) = \sqrt{n+1}, \quad g(n) = \frac{1}{n^2-1} \quad g \circ f = \frac{1}{n^2-1}$$

$$\frac{0}{\sqrt{1}} \Rightarrow [0, \infty)$$

$$\frac{1}{n^2-1} \Rightarrow \frac{1}{n^2-1} \neq 0 \quad \frac{0}{\sqrt{1}} \Rightarrow \mathbb{R} \cap (0, \infty) = \{1\}$$

$$f(n) = \sqrt{n+1}, \quad g(n) = \sqrt{n} \quad (f+g) \circ f$$

$$[-1, 1] \Rightarrow [0, 1] \Rightarrow \sqrt{1-n^2} + \sqrt{n} \Rightarrow n \Rightarrow [0, 1]$$

$$f\left(\frac{r(n+1)}{n^2}\right) \in n \cup \omega \quad \frac{r(n+1)}{n^2} = b \Rightarrow -\frac{r(b-1)}{b-r} \Rightarrow f\left(\frac{r(b-1)}{b-r}\right) + \omega \Rightarrow \frac{1}{b-r} \Rightarrow \frac{1}{b-r}$$

$$f\left(n + \frac{1}{n}\right) = n^2 + \frac{1}{n^2} \Rightarrow b^2 = n^2 + \frac{1}{n^2} \Rightarrow \frac{1}{n^2} + \frac{1}{n^2} \Rightarrow \frac{1}{n^2} \Rightarrow \frac{1}{n^2}$$

$$f(n) = n^2 - r \cup n$$

$$g(n) \Rightarrow g(\sqrt{n}), g(1) = 2.$$

$$f(n) = n\sqrt{n} \Rightarrow n\sqrt{n} = 4\sqrt{4} \Rightarrow 4, 1 \Rightarrow \textcircled{1}$$

$$n\sqrt{n} = 1$$

اختلاف زمانی که خود را تابع $g \circ f$ دارد
 n ما را قطع می کند؟